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Guess Paper – 2009
Class – X
Subject – MATHEMATICS
Series : KBJ                                                              Code: 15/02
  Time Allotted: 3 Hrs                                                                     Maximum mark:80
 General Instructions:

· All questions are compulsory.

· The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

· All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.
· Use of calculators is not permitted. You may ask for mathematical tables, if required.
· In case of choice questions you need to to attempt only one question.
· Draw figure neatly and accurate in case of constructions.
SECTION A

1. Use Euclid’s division algorithm to find the HCF of 135 and 225.
2. Find the quadratic polynomial having sum and product of zeros 0 and √5. 
3. If tan A = cot B , prove that A + B = 900. 

4. Determine whether x = -2√3 is a solution of the quadratic equation x2 -3√3  x  +6 =0.                      
5. Which term of AP 24,21,18…………. Is the first negative term.
6. [image: image3.png]In an equilateral triangle ABC , if AD       BC , then prove that 3 AB2 = 4 AD2
7. What is the distance between two parallel tangents of a circle of radius 4 cm.

8. Find the length of longest rod that can be kept into a cubical room with edge 10m.
9. A die is thrown once . What is the probability of getting multiple of 2 or 3.
10. The median and mode of the distribution are 22.5 and 21.4, Find its mean.
                                                                 SECTION – B

11. The larger of two supplementary angles exceeds the smaller by 180, find them.
12. Find the points on the y axis whose distances from the points (6, 7) and (4,-3) are in the ratio 1:2.
13. Prove that the points (0,0) ,  (5,5)   and ( -5,5) are the vertices of  a right isosceles triangle
14. In the given figure , considering the two triangles BPE and CPD , prove that , BP × PD  = EP × PC                              


                                      



15. A lot of 20 bulbs contains 4 defective ones. One bulb is drawn at random  from the lot. What is te probability that the bulb drawn is defective.
SECTION – C
16. Prove that n2 –n  is divisible by 2 for every positive integer n.
17. Find the values of  a and  b so that the polynomial x4 + x3 + 8x2 +ax +b is divisible by x2 +1.
18. Show graphically , the following system of equations have unique solution.
3x +  y  = 12
x - 3y   = -6
      Shade the region bounded by these lines and the x-axis.Also find the ratio of the areas of the 

      Triangle              formed by given lines with x-axis and y-axis.

19. If five times the fifth term of an AP is equal to the eight times the eighth term, show that its 13th term is zero.
20. Prove the following identity      
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21. Solve :       
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22. The three vertices of a parallelogram taken in order , are  ( 2, -1 ) , (3 , -4) and ( -2 ,3). Find the fourth vertex.

23.  Prove that the perpendicular at the point of contact to the tangent to a circle passes through the centre.

24. A triangle ABC is drawn to circumscribe a circle of radius  4 cm  such that the segments  BD and DC into which  BC is divided by the point of contact D are of lengths  8 cm and  6 cm respectively. Find the sides AB and AC.

25. In a circle of radius  21 cm , an arc subtended  an angle of  1200 at the centre, find 

i. The length of the arc
ii. Area of the sector formed by the arc

iii. Area of the segment made by this arc 

SECTION -D

26. Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct points the other two sides are divided in the same ratio.

            Using the above theorem, Prove that if a line drawn parallel to non – parallel sides of trapezium .

           Then it divides the non parallel sides in the same ratio.    

27. A man on the top of  a vertical tower observes a car moving at uniform speed towards the tower . If it takes 12 minutes for the angle of depression to change from 300 to 450, how soon after this , will the car reach the tower. 

28. The height of the Cone is 30 cm A small cone is cut of f at the top by a plane parallel to its base if its volume be 1/27 of the volume of the given cone. at what height above the base is the section cut off.
29. The following table shows the age of the patients admitted in a hospital during a year. 

	Age ( in years )
	5 – 15
	15 – 25
	25 – 35
	35 – 45
	45 – 55
	55 - 65

	No. of  patient
	6
	11
	21
	23
	14
	4


         Find mode and mean ( by steps deviation method ) of the data given above. Compare and 
        Interpret the two measures of central tendency.

30. An express train takes one hour less than a passenger train to travel 132 km between mysore and Bangalore ( without taking into consideration the time they stop at intermediate stations). If the average speed of thee express train is   11km/hr more than that of the passenger train, find the average speed of the two trains.
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